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1) TRADE THEORY

Question No. 1/ Question ID 210 Marks: 2.00

Why universal uni-joint coupling is only suitable for remote manual operations?
e d gl-Slise HUTCHT had RATe HI3d TR & fore g Suged i g7
(A) O Provides a soft start
TP R YB3 YaH Rl §
(B) O Used to reduce the engine vibration (Chosen Option)
$O U &I HH B & o7t IUTNT fHT ST 8 (Chosen Option)
(C) © Transmited low power is not smooth (Correct Alternative)
Tafed $U fad IR= 81 & (Correct Alternative)

(D) O Used in pairs on cardan shafts

HIed U W oiie H IuanT fovar orar g

Question No. 2 / Question ID 99
What is the name of the part marked as ‘X’ shown in the figure?

o A femme 7w o O fafgd HRT &1 9W |18

Marks: 2.00

Global iTi YouTube Channel




YouTube Channel

A) O BaII separating gauge (Correct Alternative)
dre JWRfT Aw (Correct Alternative)

(B) O Ball (Chosen Option)
qid hg (Chosen Option)

(C) O Outerrace
IR ™

(D) O Inner race

EQLESS|

Question No. 3 / Question ID 146 Marks: 2.00
What causes water dripping from the tap even after it is closed?
T ¢ 811 & d1e |l 90 ¥ U <USHA &1 1 HRUT 82
(A) O Bend spindle

ISd BT JS ST
(B) O Loose valve (Chosen Option)
Il dTed (Chosen Option)
O Splndle thread wornout
oS o &
(D) O Defective washer (Correct Alternative)
qIRR (Correct Alternative)




Question No. 4 / Question ID 133 Marks: 2.00
Which bearing material has resistance to chemical reaction?

DI 9 o arRht Yeme ufafear & ufa feRiel g2
(A) O Nylon
BIBIE]
(B) O Lead bronze (Chosen Option)
T I (Chosen Option)
(C) O Laminated phenolics

(D) O Teflon (Correct Alternative)
(Correct Alternative)

Question No. 5/ Question ID 73 Marks: 2.00
Which method of surface hardening is done in a heated salt bath?
T Wiee TY A D I WRBY gTs -1 o fafy o St g2
(A) O Liquid carburising (Correct Alternative)
-?ﬂ'gchﬁm (Correct Alternative)
(B) O Pack carburising
V- BTG R
(C) O Gas carburising

(D) O Flame hardening (Chosen Option)
7T (Chosen Option)

A

Question No. 6 / Question ID 1 GIObaI |T| YOUTU be N@m nel

Which special file is used in narrow workpieces?
TH10l HUN & DI I A=Y BIsd HT IudiT a1 ST 7
(A) O Swiss pattern file
EJEN

(B) O Dread naught file

S Alc BIsd
(C) O Pillar file (Correct Alternative)

WIS (Correct Alternative)

(D) O Square file (Chosen Option)

TR 13l (Chosen Option)

Question No. 7 / Question ID 279 Marks: 2.00
What is the name of tooth type lock washer shown in the figure?

for 7 faT 71U Ty T3y Al dIRR &1 &1 919 872




(A) O Internal and external type (Chosen Option)
3{TdR® 3R FI88 UBR (Chosen Option)
(B) O Counter sink type
(C) O External type (Correct Alternati
External ype (Conectaternati@lobal 1T1 YouTube Channel

(D) O Internal type
3idR® YBHR

Question No. 8 / Question ID 19 Marks: 2.00
What is the purpose of dowel pins in assembly?
SrTch # Siad fUT &1 I 1 872
(A) O Imperfect alignment

(B) O Slow disassembly (Chosen Option)
et fa 9 Gl Rl (Chosen Option)
(C) O Easy maintenance
S WY

(D) O Perfect alignment & quicker disassembly (Correct Alternative)
gl T¥@Ur 3T Aeht | GGl BT (Correct Alternative)

Question No. 9 / Question ID 84 Marks: 2.00
What is used to achieve faster rate of cooling in the quenching process?

T Ufeha H 2fided &t ao &R U B & e fordept IuanT b Srar g2
(A) O Water

(B) O Air (Chosen Option)
dig (Chosen Option)




(C) O Brine solution (Correct Alternative)
ST UM (Correct Alternative)
(D) O Oil
ad

Question No. 10 / Question ID 240 Marks: 2.00
What is the name of the part marked as 'X' shown in the figure?

o # fezame X @ ffgd HmT 1 H R 82

ITi YouTube Channel




(A) O Double acting cylinder (Correct Alternative)
Sdd E’%T Rrds (Correct Alternative)

(B) O Pump
4y

(C) O Reservoir
TSR

(D) O Two piston valve (Chosen Option)
¢ fied d1ed (Chosen Option)

Question No. 11 / Question ID 298 Marks: 2.00
Which documents are used for examining the process to identify areas of improvement?
JYR & &1 B TSI B o Uiehal &1 offd 8 P J gxaraeil T SUAIT far Sirar g2
(A) O Process chart (Correct Alternative)

CIrd (Correct Alternative)
(B) O Productivity report (Chosen Option)
IdTedHdr Rare (Chosen Option)
(C) O Stage inspection report
e
(D) © Job card
gfchar

Question No. 12 / Question ID 236 Marks: 2.00
Which formula calculates force?
P TN B § &1 0T HRT 872
A Pressure - Area . .
o Pressure - Area GIObaI |T| YOUTUbe Channel
(B) O Pressure + Area (Chosen Option)

Pressure + Area (Chosen Option)

(C) O Pressure + Area
Pressure + Area

(D) O Pressure x Area (Correct Alternative)
Pressure x Area (Correct Alternative)

Question No. 13 / Question ID 57 Marks: 2.00
What is the name of the instrument shown in the figure?

o o fezam T IuswRr BT A 1 87




| YouTube Channel

(A) O Height gauge with slip gauge holder (Correct Alternative) (Chosen Option)
& g1y €T§E Tt (Correct Alternative) (Chosen Option)
(B) O Clamp type height gauge
ol TTEY BISE T
(C) O Vernier height gauge
GECAIE]
(D) O Depth vernier gauge

Question No. 14 / Question ID 70 Marks: 2.00
What is the use of frosting operation?

THIRSTT TR BT IUTNT T 872




(A) O Toincrease the oil retention on milled surfaces (Chosen Option)
e Tdgl R dd UidYRU &1 d¢H & ol (Chosen Option)
(B) O To increase the oil retention on scraped surfaces (Correct Alternative)
Eﬁﬁ Tt '\‘I?IB'T R dd UfdYRoT &1 Rﬁ & ﬁl‘G (Correct Alternative)
(C) O To decrease the oil retention on scraped surfaces
G a1l Fdg! IR 0 IRl & HH A & g

(D) O To decrease the oil retention on milled surfaces

fiIes dgl R dd UldURU &1 HH B & foru

Question No. 15/ Question ID 228 Marks: 2.00
Which gear transmits power between intersecting shafts at right angles?
®H I R &I R Ufdwse $H3 ald JMUT & o Qfad a1 ddl 872
(A) O Bevel gear (Correct Alternative) (Chosen Option)
firR (Correct Alternative) (Chosen Option)
(B) O Spurgear
R
(C) O Screw gear

g
(D) © Worm gear
4 firR

Question No. 16 / Question ID 154 Marks: 2.00
What is the name of the pipe fitting symbol shown in the figure?

forr & fezame 7w urgy fkf udies &1 T 82
| YouTube Channel

(A) O Cross
Eapl

(B) O Elbow (Chosen Option)
(Chosen Option)
(C) O Plug (Correct Alternative)
I (Correct Alternative)
(D) O Socket
Hihe

Question No. 17 / Question ID 96 Marks: 2.00




What is the name of the gauge shown in the figure?

fort & fa=ame 7T 71 T A0 =7 82

ITi YouTube Channel

(A) O Thread plug gauge (Correct Alternative)
p AT T Il (Correct Alternative)

(B) O Thread caliper gauge
IS HR et

(C) O Thread ring gauge
Ig T et

(D) O Screw pitch gauge (Chosen Option)
h g (Chosen Option)

Question No. 18 / Question ID 296 Marks: 2.00

Which property of lubricant readily separates water from the oil?
TED DT DI T 0 O BT A T ST F 3T DR Sl 872
(A) O Viscosity

AT
(B) O De-emulsification (Correct Alternative)

-Eﬂﬁ‘ﬁﬁﬁﬂd? (Correct Alternative)

(C) © Emuilsification

BIERIER|

(D) O Oiliness (Chosen Option)

IIEHIRAT (Chosen Option)

Question No. 19 / Question ID 273 Marks: 2.00
What is the name of the lubrication system shown in the figure?

forr o g=ifS 78 Wg= womett &1 1 82




(A) O Manual screw down system (Chosen Option)
T3 T 813 RIEH (Chosen Option)

(B) O Splash system e
w3 ol Global iTi YouTube Channel
(C) O Ring oiling (Correct Alternative)
i (Correct Alternative)
(D) O Wick feed
fae ftbs

Question No. 20 / Question ID 319 Marks: 2.00
Which consists of a bridge that is constructed from several girders supporting travelling hoist?
IE S I YA § O I B a1 BIS¥C B WERT o dTdl g x| U HiHd gidl 87
(A) O Jibcrane
ISEEE!

(B) O Over head crane (Correct Alternative) (Chosen Option)
| (Correct Alternative) (Chosen Option)
(C) O Floor crane
WY b

(D) O Frame derrick crane

e b

Question No. 21 / Question ID 182 Marks: 2.00
What is the name of the belt fastener shown in the figure?

o # feRamy 7T S BReR &1 719 1 872




ouTube Channel

(A) O Jackson type belt fastener

ST TT3Y dee BRER
(B) O Wire type belt fastener
IRR TR 9 BRER
(C) O Crescent plate belt fastener (Correct Alternative)
fohdic Wi 9T BReR (Correct Alternative)
(D) O Alligator type belt fastener (Chosen Option)
cIgy dee BRER (Chosen Option)

Question No. 22 / Question ID 95 Marks: 2.00
What is the name of the gauge shown in the figure?

for o fam 71U TS 1 A1 1 82




YouTube Channel

(A) O Ring gauge
UKIE

(B) O Thread plug gauge (Chosen Option)
XS T T (Chosen Option)

(C) O Snap gauge
JY T

(D) O Taper ring gauge (Correct Alternative)
f&r (Correct Alternative)

Question No. 23 / Question ID 150 Marks: 2.00
What is the name of the pipe fitting item shown in the figure?

for # =i 71w Uy e angen o1 AW R 82




(A) O Connector
GRCTR

(B) O Long nipple (Chosen Option)
(Chosen Option)
(C) O Close nipple (Correct Alternative)

§¢ B9 (Correct Alternative) o
©)O Short nipple Global iTi YouTube Channel
Question No. 24 / Question ID 183 Marks: 2.00

Why copper is extensively used in electrical cables and appliances?
faqgd Faal 3R IUHN H dfd B I THM W IR 1 foar Sirar g2
(A) O Easy soldering (Chosen Option)

ST AR (Chosen Option)
(B) O Cheap in cost

AT | I
(C) © Ductile metal

a4 41
(D) O Good conductor (Correct Alternative)

[S hsdeX (Correct Alternative)

Question No. 25 / Question ID 39 Marks: 2.00
Which type of abrasive is used in honing cast iron and non-ferrous materials?
Fal Alel 3R 3feile I &1 THGM H (69 UHR & asid BT IUANT {61 STl 52
(A) O Aluminium O)S_!de
S ICSIES]

(B) O Diamond (Chosen Option)

BRI (Chosen Option)
(C) O Boron carbide




(D) O Silicon carbide (Correct Alternative)
faferera W‘fg@" (Correct Alternative)

Question No. 26 / Question ID 89 Marks: 2.00
What is known as 0.84% carbon steel?
0.84% BT WId fhY HgT oIl 52
(A) O Cementite (Chosen Option)
(Chosen Option)
(B) O Pearlite steel (Correct Alternative)
T (Correct Alternative)
(C) O Ferrite

(D) O Hypereutectoid
eleUrYcacics

Question No. 27 / Question ID 69 Marks: 2.00
What is the name of the part marked as 'x' shown in the figure?

o  fezame ¢ | fRafgd um o1 A | g

Global iTi YouTube Channel




| iTi YouTube Channel

(A) O Bronze guide (Correct Alternative)
DI TS (Correct Alternative)
(B) O Universal joint

(C) O Expanding body
ICESIERINARCAK]

(D) O Stone (Chosen Option)
T (Chosen Option)

Question No. 28 / Question ID 165 Marks: 2.00
What is the purpose of setting blocks in fixture?
fhaRreR ® sl AT b1 I T 872
(A) O To position the fixture on machine table (Chosen Option)
¢qd W fhaaer & fUfT & @A (Chosen Option)
(B) O To position the work related to cutter (Correct Alternative)
PX A Tafea o1d &) UMY & T@AT (Correct Alternative)




(C) O To position the clamp and locators
&Y 3R Aavex I U & @

(D) O To position the balancing weight
e YR &I Rufd § a1

Question No. 29 / Question ID 13 Marks: 2.00
What is the name of the nut shown in the figure?

for 7 famT 71U e &1 9 1 82

| YouTube Channel

(A) O T-Nut
T-Hc
(B) O Castle nut (Correct Alternative)
cC (Correct Alternative)
(C) O Slotted nut (Chosen Option)
<< (Chosen Option)
(D) O Cap nut
qc

Question No. 30 / Question ID 29 Marks: 2.00
What is checked using a template?
STIC T SUTNT HRab TSIl STl 82
(A) O Hole size (Chosen Option)
BId BT HR (Chosen Option)




(B) O Pitch of holes

(C) O Diameter of shaft
RMHC ST AN
(D) O Contour profile of a workpiece (Correct Alternative)

P B UIHISA (Correct Alternative)

Question No. 31 / Question ID 264 Marks: 2.00
What is the name of the position of electro pneumatic push button in the change over condition shown in
the figure?

o # gwiis 773 ufvadq fRufa & saae! gcd 3t Rufd &1 |82

Ti YouTube Channel

(A) O Horizontal position (Chosen Option)
afew fRufa (Chosen Option)

(B) © Normal position
T fRyfd

(C) O Vertical position
SereR Rufd

(D) O Actuated position (Correct Alternative)
Tfera fRATA (Correct Alternative)

Question No. 32 / Question ID 316 Marks: 2.00
What is the name of the slinging device shown in the figure?

o # feramy v AT IueRur &1 AW |1 82




(A) O Barrel hook (Chosen Option)

g Chosen Oopton) —— (Global iTi YouTube Channel

(B) O Eye hook with safety catch
Ut T & 1Y 37T §h
(C) O Eye hook
3G BT gb
(D) O Swivel spring safety hook (Correct Alternative)
fRITT R&T §F (Correct Alternative)

Question No. 33 / Question ID 207
What is the name of the part marked as ‘X’ shown in the figure?

o # fezame 7w e @ fafgd Wi &1 9m R 82

Marks: 2.00




YouTube Channel

(A) O Inner piece (Chosen Option)
TR gheT (Chosen Option)
(B) O Rubbing surface
TS dTcit gelg
(C) O Outer piece
el gHeT
(D) O Centrifugal weight (Correct Alternative)
dc (Correct Alternative)

Question No. 34 / Question ID 110 Marks: 2.00
What is the name of the part marked as 'X' shown in the figure?

fomr ¥ ferame U X' & w0 # fafgd YRt o1 AW @ g2




ITi YouTube Channel

(A) O Outer race (Chosen Option)
33X (Chosen Option)

(B) O Ball cage (Correct Alternative)
q1d pol (Correct Alternative)

(C) O Ball
S YU

(D) O Inner race

EGRECS|

Question No. 35/ Question ID 66 Marks: 2.00
What is the use of Taly - Surf?
<ol - I T SUART T 672
(A) O To measure angle (Chosen Option)
P10 A & g (Chosen Option)
(B) © To measure parallelism
FHiRd HUH & forg
(C) O To measure surface texture (Correct Alternative)
Tdg P §91d¢ AU & oI (Correct Alternative)

(D) © To measure flatness

JHdAdl AT & forg

Question No. 36 / Question ID 206 Marks: 2.00
What is the name of the clutch shown in the figure?

fort & feRaTe 7T Fere &1 A T B2




YouTube Channel

(A) O Centrifugal clutch (Correct Alternative) (Chosen Option)
&d (Correct Alternative) (Chosen Option)
(B) O Cone clutch
ENE)
(C) O Airclutch
TR &
(D) O Over riding clutch
ST T

Question No. 37 / Question ID 261 Marks: 2.00
What is the name of the part marked as 'X' is shown in double acting cylinder figure?

S99 UfaeT Riaier fom ® ' 3 RIfgd Wi o1 9\ |1 g




(A) O Cylinder cap (Chosen Option)
[83 &Y (Chosen Option)
(B) O Guide ring
s R
(C) O Lock nut

(D) O Piston rod (Correct Alternative)
fiee+1 IS (Correct Alternative)

ot T Global iTi YouTube Channel

Question No. 38 / Question ID 227
Which gear transmits power between parallel shafts?
DI I IR JHAGR Whe & o9 Wfed Jamia Har g2
(A) O Screw gear
¥R
(B) O Bevel gear (Chosen Option)
(Chosen Option)

(C) © Worm gear
I fieR

(D) O Spur gear (Correct Alternative)
R i (Correct Alternative)

Marks: 2.00

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 324
What is the purpose of a lubricant?
WED Bl 5 187
(A) O To reduce pressure (Chosen Option)
Gd1d P HH B P [T (Chosen Option)
(B) O To increase friction

EAUEIEHEEANIY

Marks: 2.00




(C) O Toincrease the pressure
Sd1d §gM & forg
(D) O To reduce friction (Correct Alternative)

HYUT Bl FH FHA B f%‘l'l'{ (Correct Alternative)

Question No. 2 / Question ID 333 Marks: 2.00
Which symbol is used to express change in length?
TS W URad Bl by Wopd I g=faT oiTd 87
(A) O :

B)O e

e

(C) O ol (Correct Alternative)
Ol (Correct Alternative)
(D) O L (Chosen Option)
L (Chosen Option)

Question No. 3 / Question ID 337 Marks: 2.00
Which authority publishes schedule of rates?
DIH-TT UTFAHROT &= b ST BT UG Hal 572
(A) O Individual (Chosen Option)
(Chosen Option)
(B) O Corporate

g O 9efeg (praike)
(C) O Partnership firm
CIRE Global iTi YouTube Channel
(D) O Government department (Correct Alternative)
faumT (Correct Alternative)
Question No. 4 / Question ID 336 Marks: 2.00

What is colour of a metal piece when heated to 250°C while doing the tempering process?

STORAT UfehaT Rd THT U YT & ghs Dl 250°C TR TTH a1 ST §, df S YT & Ths 1 1 T RIT?
(A) O Blue
Frar

(B) O Brown (Correct Alternative)
HIT (Correct Alternative)
(C) O Pale (Chosen Option)
(Chosen Option)

(D) O Purple
CuG|

Question No. 5/ Question ID 331 Marks: 2.00
V\ihich type of stress?
HIF-I7 Ufded 82




(A) O Shear stress (Correct Alternative) (Chosen Option)
CLERIGEL] (Correct Alternative) (Chosen Option)

(B) O Compressive stress

e ufded
(C) O Torsional stress

ERERRCIGC]
(D) O Tensile stress

GEICRIRE]

uTube Channel

Question No. 6 / Question ID 332
What is the unit of strain?

faepfa Bt 3ebTS o 52

(A) O Kg/ecm?
Kg/cm2

(B) O Newton/metre?
Newton/metre?

(C) O Metre (Chosen Option)
Metre (Chosen Option)

(D) O No unit (Correct Alternative)
No unit (Correct Alternative)

Marks: 2.00




[3) ENGINEERING DRAWING

Question No. 1/ Question ID 354 Marks: 2.00
Which symbol is used for butt joints?

§c iise & U food fog &1 i fova wirem 82
(A) O

(Chosen Option)

(Chosen Option)

(B) O

Global iTi YouTube Channel

(€)O

(Correct Alternative)

(Correct Alternative)




(D) O

Question No. 2 / Question ID 346 Marks: 2.00
The head for boiler application's shown in the figure given below is

+13 faw 7 o & e U ITeR TRIBPTT & AU eS|, ...

AN

[g Global iTi YouTube Channel
e |

AN

il

(A) O snap (Chosen Option)
(Chosen Option)
(B) O conical
YHTPR




(C) O steeple (Correct Alternative)
(Correct Alternative)

(D) O pan
o

Question No. 3 / Question ID 361 Marks: 2.00
Which nut can be easily operated with thumb and finger?
O SIS 3R It § it | Tanferd fopar S Tebar 32
(A) O Lock nut (Chosen Option)

did e (Chosen Option)
(B) O Capstan nut
qc
(C) O Dome nut
SEEH
(D) O Wing nut (Correct Alternative)
far e (Correct Alternative)

Question No. 4 / Question ID 351 Marks: 2.00
Which one of the following accommodates four pipes in a pipe fitting?
frafaRad & 9 SH-91 T sy fhfc & IR urgul &l SHm™INd HRdl 672
(A) O Cross (Correct Alternative) (Chosen Option)
Ean| (Correct Alternative) (Chosen Option)

(B) O gee

10 Global iTi YouTube Channel
(D) O Union

Question No. 5/ Question ID 352 Marks: 2.00

The Included angle of pipe thread is around
TSy 9 T XM B0 ARY 3R B
(A) O 15°
150
(B) O 55° (Correct Alternative) (Chosen Option)
55° (Correct Alternative) (Chosen Option)
(C)O 75°
75°
(D) O 100
100

Question No. 6 / Question ID 348 Marks: 2.00
Identify the given rivet.

feu U fXde &) ugaH|




ITi YouTube Channel

(A) O Counter sunk
PIIER Ih

(B) O Pan head
CERS

(C) O Flat head
TIIC 88

(D) O Snap head (Correct Alternative) (Chosen Option)
ay %?; (Correct Alternative) (Chosen Option)

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 424 Marks: 2.00
Which of the following is required for teamwork?

dH 9d & fou Fuferieaa & @ w1 sawgs 82




(A) O Proper communication (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(B) O Easy tasks
ST <RSP
(C) O Conflict and Argument
3R 3miHe

(D) O Money

Question No. 2 / Question ID 487 Marks: 2.00
Which among the following is not an Online payment application?

fafafea & @ o1 91t A UHe TwiieeH 78l 82
(A) O Google Pay

Tl Pay
(B) O BHIM UPI

BHIM UPI

(C) O Banking Applications

(D) O Instagram (Correct Alternative) (Chosen Option)
Q¥CIITH (Correct Alternative) (Chosen Option)

Question No. 3 / Question ID 481 Marks: 2.00
An illegal activity committed on the internet is called

SR IR B TS Tep TR TTIATafey bl SIS &

® O vins Global iTi YouTube Channel

(B) O cyber crime (Correct Alternative) (Chosen Option)
IgdR hIgH (Correct Alternative) (Chosen Option)
(C) O search engine
L]
(D) O social networking

reret Aeafd

Question No. 4 / Question ID 490 Marks: 2.00
The conversion of computer data from one format to another is called

SR ST DI T Bic GO Bidie F e HEA &
(A) O copying
DU

(B) O Data conversion (Correct Alternative) (Chosen Option)
ST R (Correct Alternative) (Chosen Option)

(C) O pasting
i

(D) O cutting
EI=l

Question No. 5/ Question ID 383 Marks: 2.00
Complete the sentence with suitable describing words.
There are apartments in my neighbourhood.

quaaavﬁmassraﬁamqmﬁ|

There are apartments in my neighbourhood.




(A) O good
good

(B) O spacious (Correct Alternative) (Chosen Option)
spacious (Correct Alternative) (Chosen Option)

(C) O beautiful
beautiful
(D) O expensive
expensive

Question No. 6 / Question ID 446 Marks: 2.00
Important skills required for the future of work is
Higwr & &1 & forg simaxge Ayl siwa g
(A) O Learn making reels and TikTok videos.
I 3R fepele difsar ST
(B) O Avoid learning new skills.
T DR G J T
(C) O Master internet skills. (Correct Alternative) (Chosen Option)
'&"E’Qﬁ'c’ CaRIR:| ﬁ'Q'URIT YT HRAT (Correct Alternative) (Chosen Option)
(D) O Avoid building professional relationships.
YIRS &Y - F T+1

Question No. 7 / Question ID 443 Marks: 2.00

Which is a regular, non- APP based Gig economy job opportunity?
T (A, IR-APP ST 7T B! Sifd BT SR DI A1 52
(A) O Dunzo (Chosen Option) .

g (Chosen Option) Global iTi YouTube Channel
(B) O Uber

[SLSR
(C) O Home catering (Correct Alternative)

(Correct Alternative)

(D) O Swiggy
i

Question No. 8 / Question ID 540 Marks: 2.00
What should be avoided during an interview?
g’ & SRM b diell o oaT A1eu?
(A) O Look somewhere and answer (Correct Alternative) (Chosen Option)
a»—é’r’ 3R a@ 3R IR a' (Correct Alternative) (Chosen Option)
(B) O Greet the employer with a smile
TR &1 JRpRIge & A1y Ui B
(C) O Maintain eye contact
311G ¥ WU F 1
(D) O Answer clearly and loudly
WY Td SHd WRAIRS

Question No. 9 / Question ID 380 Marks: 2.00
Complete these sentence with suitable describing words
The roads in my town are in condition.
S ATl B IUGFd aUHIEHD ea! o TR B |

The roads in my town are in condition.




(A) O beautiful
beautiful
(B) O good (Correct Alternative)
good (Correct Alternative)
(C) O expensive
expensive
(D) O safe (Chosen Option)
safe (Chosen Option)

Question No. 10 / Question ID 536 Marks: 2.00
The process of learning a completely new skill is called
TS Ui a1 IR WIa- 1 Ut &l Hel SIdl §
(A) O Skilled worker (Chosen Option)
(Chosen Option)

(B) O Upskilling (Correct Alternative)

[T (Correct Alternative)
(C) © Semi-skilled

(D) O Reskilling
JifRpieT

Question No. 11 / Question ID 560 Marks: 2.00
When a machine operator suddenly face a problem, and quickly finds another way to do the work is
called as

ST Ueb TR 3{TURER b 3rTTeb fohl YT T HHAT BT UGl ©, MR I8 G BIH B bl GERT qLebl
RE ST, I TN DT €7 Global iTi YouTube Channel
(A) O Sincerity (Chosen Option)
(Chosen Option)
(B) O Adaptability (Correct Alternative)
(Correct Alternative)
(C) O Honesty

D) O Iptegrity

Question No. 12 / Question ID 463 Marks: 2.00
If you have to migrate from your place to a new city to join new job, what will you do to migrate safely?

QGW%W$%EWW@[WW X | HISUC BT Us ol YRI& AU o forw aimg on
?
(A) O Research about living in the new city (Correct Alternative) (Chosen Option)
T e | Teﬁ & IR A MY B3 (Correct Alternative) (Chosen Option)
(B) O Buy gifts for her neighbours
310 YSIRAT & fog IUBR TRial
(C) O Always share exact location on social media
IS HiFSTT TR GHRM Fleh AR IR HAT

(D) O Believe everything brokers say
B S 8 H Hed § 39 W oy &

Question No. 13 / Question ID 598 Marks: 2.00




One |mportant rule to network effectively is

TYTd &7 9§ Yead SN B U Heaqul FIH @

(A) O focus on selling your product (Chosen Option)
3T TG DI §9 WR &AH ¢ (Chosen Option)

(B) O talk to the same people
361 ANl & a1

(C) O keep in touch with your contacts (Correct Alternative)
U HUDT & 1Y JUH A T (Correct Alternative)

(D) O identify your competitors

30 fdgfedl @1 ugar

Question No. 14 / Question ID 516 Marks: 2.00
Checking the skills requwed |s |mportant before applylng for a job, because
frelt A & frT 3Mmae B A UG SATTLTD DI B Sl B HgdqUi 8, Fifeb
(A) O ltis not important to check the skills required for a job.
forft st & forg STaae® DI BT S HRAT Hgayul et g
(B) O To chat with friends about it.
b IR H Gl & 1Y ST $HR & o1y

(C) O To be sure you can do the job well. (Correct Alternative) (Chosen Option)

g GATa #31 & fore fF 3imu H1H 3= | & Jdhd 81" (Correct Alternative) (Chosen
Option)
(D) O To impress the interviewer.

SR WA T DI THITAd R o forg

Question No. 15/ Question ID 485 " :2.00
Which one is a social networking site? G I Obal ITl YOUTU be N@h a n nel
IS Feafd T Trge B I 82
(A) O Outlook express

HITTH TR
(B) O Mozilla

(C) O Lotus notes

N

(D) O Face book (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 16 / Question ID 464 Marks: 2.00
What is the main purpose of the Skill India Digital Platform?
fepa gfsar fsfed wewid o1 T Iexg F1 82
(A) O To facilitate online learning and skill development (Correct Alternative)
TS R8T 3R PR fawdT Y GAUTSH® 9T (Correct Alternative)
(B) O To provide financial assistance for job seekers
T3t aTe- arelt dI fai T UeH Al
(C) O To offer offline training programs
TS U180 HRIHH U BRI
(D) O To promote international job opportunities (Chosen Option)

SIARRTPI AR & AER| 1 FGIA1 G (Chosen Option)

Question No. 17 / Question ID 615 Marks: 2.00




Why is it important to have a business plan before starting a business?

IS = R T TR O WH ST 31 ot 872

(A) O Justatry
Y TP PIRI B & oL

(B) O To identify potential challenges with clear goal and risks (Correct Alternative) (Chosen
Option)
WY d&0 Ud Sl & 91y SyTfaa ﬂﬁﬁ?ﬂ FI yga= AP f%fl;’ (Correct Alternative)
(Chosen Option)

(C) O To show you are an entrepreneur
g feam & fore o oy v Ieet §

(D) O To get loan from bank

EENIEE AT

Question No. 18 / Question ID 423 Marks: 2.00
Which of the following statements shows good teamwork?
fafaRad & & ®F 91 Hu= ot E9 9d S g=idr 82
(A) O Keeping all ideas to yourself
faaR S db gt Sifd a1

(B) O Working together towards a common goal (Correct Alternative) (Chosen Option)

Uh IHIA d&d 31 fe=m H fraeY &1 ST (Correct Alternative) (Chosen Option)
(C) O Criticizing teammates' efforts

9 & Il & TR bl STl BT

(D) O Ignoring others' ideas and opinions

TRI & faaRY 3R G P ToRSAES HIAT

Question No. 19 / Question ID 449 G Oba |T| YOUTUbeN@Wne

Which of the following best describes the gig economy?

frafeied & § S a1 fr1 31wt &1 Tey 3T 9ol @xar g2

(A) O A system where workers take on part-time or temporary jobs (Correct Alternative) (Chosen
Option)
TP 9T Red o8 FHAR) uré-e1sd a1 AR} Tof¥ai A & (Correct Alternative) (Chosen
Option)

(B) O A system where workers have fixed work hours and locations
T 09T Riked et 9! & & & 6e oIk wH a8 §

(C) O Asystem where workers are paid a fixed monthly salary
T U RieH ofgi 4fien! &1 U Fidd Hities aa fear Siran @

(D) O A system where employees work full-time for a single employer

T U Ried ofgi HHarRt Teb & Faier & iy quidbiiere &1 Bd 8

Question No. 20 / Question ID 553 Marks: 2.00
What does working well together mean?
T Y 3BT HTH HRA BT 1 JdAd g2
(A) O Be friendly with all
oo 1Y FHEaTgul SagR &A1 a1iey
(B) O Participate get-together
o THRIE | URT o1 91T
(C) O Sharing ideas, listening, finding solutions together (Correct Alternative) (Chosen Option)

foaR AT SR, G, 91y s GHIUT @ioT 91T (Correct Alternative) (Chosen
Option)




(D) O Not doing any mistakes

TTeIdt 8! BT Alieq

Question No. 21 / Question ID 533 Marks: 2.00
What has drastically changed the world of work?

& 31 g § forg <iet 7 U S fasan 82

(A) O Investment

(B) O Workers
IEED
(C) O Environment

(D) O Technology (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 22 / Question ID 543 Marks: 2.00
Appropriate workplace etiquette
SECCH] _
(A) O talking loudly (Chosen Option)
$>dt 3MTaTel H §71d HRAT (Chosen Option)
(B) O being late
& B
(C) O being punctual (Correct Alternative)
THY BT 9T 84T (Correct Alternative)

DO e Global iTi YouTube Channel
Question No. 23 / Question ID 371 Marks: 2.00

When you borrow a pen from your classmate, you should say?
SIS 3T 30 FEUTST ¥ HaH SUR Td ©, dl SATAD! T Hg1 AMey?
(A) O | take your pen
T 3T U4 Adl §
(B) O Can you please give me a pen (Correct Alternative) (Chosen Option)
T 31T pUdT 'ﬂ@ Udh U= a' q&d % (Correct Alternative) (Chosen Option)
(C) O lwantapen
o T O Afey
(D) O Give me your pen
S T U9 &

Question No. 24 / Question ID 595 Marks: 2.00
are at the centre of any business.

fepat ot o % g H gl B
A) O quking capital

(B) O Bank loan
CEAIE|

(C) O Customers (Correct Alternative) (Chosen Option)
PICHY (Correct Alternative) (Chosen Option)




(D) O Licer]ce

Question No. 25 / Question ID 395 Marks: 2.00
Fill up the blanks with suitable words so as to become a meaningful sentence.
Rainwater harvesting to prevent water scarcity
et R o1 Sferd Weal ¥ WX difds Ueb Wrdfeh a1y & b |
Rainwater harvesting to prevent water scarcity
(A) O gave
gave
(B) O gives
gives

(C) O helps (Correct Alternative)
helps (Correct Alternative)
(D) O help (Chosen Option)
help (Chosen Option)

Global iTi YouTube Channel




